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Rational Exponents



Warm Up
Complete Notes p. 7







Homework Ahswers
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Homework Anhswers

943+ 243 - 5v2 + 2v3 ' N7 - W7
BN - U R
(4 el I N R —— R —
g Go6B| ([t
g .
x-’w\— “e' foums Nt T, ‘i&rﬁ@a’mg
3332 + 250 JE@-—@ | 145 xy — 3 xy
3N+ 3hs i NITTARY “ﬁ&{\a f“fé*('::—“
ey b s 1 ~(y ﬁ“ ’i:)]
| oo - )
1242 s ;
I@aa&?_} :
Va1 — 37z — 324 12+ W75 — 54 Simplify 2@—?{??{%
(“ ‘ ﬁrgiﬂ -1 %
H"zﬁiﬂ%mﬂ%aﬁ 3% 340 #0065~ Al 210 TN
3;,1\(3} H=5ﬁ 3~[b 1} W ~TRY
= AR N )
m"l@ w’ g,}[f w’g =~ LBQ—*, ’i% |
(¢ ¥3-¢% 6. 3




H omework Anhswers
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2) A garden has width v13 and [ength 7+/13. What is the perimeter of the garden in simplest radical form?
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Tonight's Homework:
Packet p. 5 and 6 evens
Finish Notes p. 8 and top of p. 9



The Lesson: Rational Exponents gffee
& Radicals.... pg. 8

An expression containing a rational exponent can be
written in an equivalent radical form.
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You try: Rewrite each of the following expressions in
radical form. We’ll try the first column together!
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Now, reverse the rule you developed to change
radical expressions into rational expressions.

We'll try the first column together!
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Earlier today, you learned that when written in
radical form, it’s only possible to write two
multiplied radicals as one if the index is the same.

However, if you convert the radical expressions
into expressions with rational exponents, you CAN

multiply or divide them!

Let’s give it a try ©
Write your final answer as a simplified radical.
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We'll try the first column together!
Write your answer as a simplified radical (if applicable)!
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You Try! Notesp. 8
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Notes p. 9
Mixed Review: Simplify each expression.
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Tonight's Homework:
Packet p. 5 and 6 evens
Finish Notes p. 8 and top of p. 9



